EETRILARSR SR R

MRS TEH =R 23HFIH
thEERE 11156 H30H B %t
&7 g7
e . HH smy | BERAEL
BET# RETE
HE |
175916204 sa194nEaE 69,208,790
234,000 230336] E4 239,336
106,489,608 30,863,624 $R{TTEER 54,312,520
7,088,929 19,700 FEUTEKIE 1,604,708
62,103,757 13,999,287]  FEftEIE 13,052,226
773,053,4100  308.800|FRENE - BEKEH el
47,105,708 + 4
2,623,924 i By
510,239,931 EEREE
145,856,994 218,800 iEMRE L
5,355,507 BEREY
61,871,346 90,000] EArZ%HE
400,000] L7 iEish s I EE
400,000 Bt L
7729000 235,000\ EfMEE
772,900 2350000 FHRES
950,142,604 54,665,747 69,208,790
=i
15,917,161 R 8 & (& 14,284,291 94,912,982
HEASRITERK
FE(< 2KTE 777,777
13,384,953]  FEdkEE 13,206,119 78,935,674
2,532,208]  {RukrExrE 1,078,172 15,199,531
HAERX
EH&E
EHASRITER
,\ﬂJEFHH{ETA
2,653,100}
2,653,100
15,917,161 14,284,291 97,566,082
352,268,584
352,268,584
R4 462.968.5901
e G 418,802,018
ztsﬁﬂa@%qﬂ 7 - 44,166,572
NSRBI 815,237,174




SRR R ESHR L

“E Y FENR S TE B 4R 23HFE2H
hERE1114E6H30H B - re®or
il g7
BEAREL | o HH sny | BERAEL
RETH RET#
A |
TN | 41570687
HEREHE A _ 8749 13 794721|
EBLTERA P kb |
A2 EBHULA 20790 1008677ﬂ
T ECEET TN - o 1,845995)
286262| Y EBHEAEULs 1 793,531 - 35,076,887
267,172 @M BHEEUESGHHERD) 671,674
O BHEE U E/NEE) 1,121,857 35,076,887
AT . ool
S TN ' B i3
D HABA 366506 4720648
286,262 2,277,367 107,109,775
A B
249,016 150(E=Ee S H
12,034,286 986,032| T B E E %
38,077,442 2,959,959 Z 20 7T B 5l sz
2,909,189 |EBEETH
12,324,487 48614 HEES B T
|EESETE
HMHEEE S H
2,034,567 10,489,970\ Fit B A5 18 5 13,606
2,034,567 2.848.269| @K EBHERSIE L (ANHEDD) 9.273
7,641,701 @ BEEE L ENED) 4333
M%EH
35 SR
2,141,440 48 799 £ %
69,770,427 14,914,884 13,606
1,019,913,031 85,784,054 & =t 85,784,054  1,019,913,031
BF FEZ% Fit Fih — &
: ERE ST
T BHEA % 1%;__{3%




TR R SR TR

HOBIRSIHE R 23HF3IH
TERE111F6H30H AL - e

=

1 FEUTRR ~ PR RRIR B FRUSGRR I & I R AR (BN BT e 4 72 D P BR 2R $60,817,987
i 9sH
TR RR-BEASBR (B A -4 5 B B A B A 2K):

FRFT KRBT (B R R - B/ ) B B A AN BT 2K): 1,977,942
TR K-B/NET (B R - 41 5L L R N BR A 2K):
FANTRR-4 SR (R A B B 4 2 B A AK): 58,840,045

TR RR-BE/NER (FEAS BT BB/ N BB 1 2K):

/Nt 60,817,987

gh:

FAU-R A BB (4 5 B B A B 2K): . 58,840,045

TEW-%) 52 (S st - B\ BB B 4y SE 1 2K):

FEU-F A ER (B /NSRBI A R 5K):

FEU-B/ N BB (R A B L B/ N BB AE 2R): 1,977,942
/et 60,817,987

2415 E111.6 HiE%s:
MBI EIE (B E A B K 25180:399,927+404,502-2,838,996=-2,034,567

BR/NER111.6 51825
b BRI S (B E A B I B 51 80):41,611,488+1,102,767-7,637,368=35,076,887



